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SN 02
MY HEESAUNA ()
Sl TS YUK S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O MHEE=E 2=
19,401,000 * 4.00/100 7
201 ¢er24] 55,669 47,406 8,263
02 =224l 55,669 47,406 8,263
03322 2 WA 750
O TsXAl 80,000& * 3O 240
O skt BME 50,0002 * 3CH 150
O MR = 45,0008 * 45 « 23l 360
=] 27,188
O g=sXza =24
1,450 = 754 = 250 27,188
O A2 &l =Xdl 4,731
O EAM 2,400& = 596m’ 1,431
O =Xz & 2,400& = 600 1,440
O g¢s&EX 60,0003 = 43| 240
O Gl F 21 30,000& = 50 = 23] 300
O Ho=sXzg2 &) M2 =2
110,000& * 12& 1,320
0 X+g - o8l 23,000
O g2 (25U, FHlsXd, 2284H) 23,000
- =Xt 4,000,000& = 1CH 4,000
CEHAX 15,000,000& * 1CH 15,000
—PAPN 4,000,000& = 1CH 4,000
206 28 6,000 6,000 0
01 MZ 4l 6,000 6,000 0
028 #1¢ 300& = 15,0002 4,500
O JIet Tt 2 50,000& = 10& = 32 1,500
FOUEHAAMNL(HZH) 385,122 381,888 3,234
Z0IE O ALY 385, 122 381,838 3,234
HEH 3 FH| 82,782 79,548 3,234
101 @124 dl 32,782 29,548 3,234
04 DIt Z2XREES 32,782 29,548 3,234
0 XZXN 2 HEH S3FH =2
66,9003 * 5H » 65 21,743
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401 AlEHI R 2 OhYI 50,000 50,000 0
01 A& HI 50,000 50,000 0
O XNgdEz2 s#3Edl 20,000,000& = 14 20,000
O =sXz2 & 28 2 &
15,000,000& * 14 15,000
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[0 2At2e] &= == ZHlZ2A
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[ =Z2AH12 02 == HHIZ2A
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[0 g0Hel Z2AMEHZ £ HAUHZ s EHHIZ2AH
20,000,000 = 14l 20,000
[0 sXi3cl 022 F=XE ZEZ2A
20,000,000 = 14l 20,000
[0 =422 FI2 s EUIZ2A
20,000,000 = 1Al 20,000
[0 27122 22 Xx=X & s ELZ2A
20,000,000 = 1Al 20,000
] 227132 A0S oa22d 2 g2 =
S LA DA} 20,000,000 = 14! 20,000
[0 sxt22l sclit2 =2 EHIZ2AH
20,000,000 = 14l 20,000
03 Al 20| 1,440 1,440 0
O AIE 2] 200,000,000& * 0.72/100 1,440
HES2AAH (HEH) 162,828 149,991 12,837
olad 2 A Y| 119,748 106,311 13,437
oleddy|(H2H) 119,748 106,311 13,437
101 21 214| 119,748 106,311 13,437
01 = 119,748 106,311 13,437
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